Multiple Choice Questions
HY6CRT12 – Understanding Modern World 
1. Which agreement signed in 1823 helped seal any further colonization or political intervention by European powers in the western hemisphere?
A. Munroe Doctrine
B. Macaulay Pact
C. Lord North Plan
D. Townshend Agreement 
2. Who theorised that imperialism is the highest stage of capitalism?
A. Vladmir Lenin 
B. Karl Marx
C. Leon Trotsky
D. Joseph Stalin 
3. Which of the following statements is not true of imperialism?
A. Imperialism is in no way connected to the competition between rival industrial-capitalist national economies in Europe 
B. Between 1880 and 1914, most of the world outside Europe and the Americas was formally partitioned as political dominions of a handful of states 
C. Hitherto remote and marginal areas became a new interest as the centres of raw materials
D. India was considered as the brightest jewel in the imperial crown of Britain 
4. Which of the following statements is not true of Russia in the decades before the First World War? 
A. Russia had two successive military victories in 1855-56 and 1904-05 
B. Unlike Britain, industrialization and urbanization in Russia was very gradual
C. Czars presided over Russia as absolutes 
D. The overwhelming majority of Russian population were peasants in 19th century
5. Which of the following ethnicities were not in Austria-Hungary before the First World War?
A. Hispanics 
B. German speakers
C. Slav minorities 
D. Italian speakers
6. Identify the incorrect statement about imperial Germany in latter part of 19th century
A. Germany was unified in 1890s
B. In the affairs of the state, Chancellor stood between the German monarch and the Reichstag 
C. Otto von Bismarck was the first German Chancellor 
D. Germany became so ambitious during the rule of Kaiser Wilhelm II 
7. Blood and Iron policy is associated with:
A. Otto von Bismarck
B. Adolf Hitler
C. Benito Mussolini 
D. Vladmir Lenin 
8. Which of the following countries were not part of the Triple Alliance?
A. Russia
B. Germany
C. Austria-Hungary
D. Italy
9. Reinsurance Treaty was a pact to maintain friendship between:
A. Russia and Germany
B. France and Russia
C. France and Britain
D. Russia and Britain 
10. Dual Entente was signed between France and Russia in:
A. 1891
B. 1892
C. 1893
D. 1894 
11. Which of the following statement about the system of peace brokered by Bismarck in Balkan is incorrect? 
A. Bismarck intervened in Balkan issue at the Congress of Berlin, 1878 
B. Balkan territories were divided into spheres of influence between Russia and Austria-Hungary
C. Ottoman province of Bosnia-Herzegovina was made a protectorate of Russia
D. Germany feared that a war between Austria-Hungary and Russia would upset the balance in Balkan 
12. Which of the following countries were not the part of Triple Entente?
A. Germany
B. Britain
C. France
D. Russia 
13. Rivalries in Europe became very acute when Germany challenged French position in Morocco. In which year did this happen?
A. 1909
B. 1910
C. 1911
D. 1912
14. Identify the incorrect statement about the Balkan crisis 
A. A significant Serb population was placed under Austrian control within the territory of Bosnia-Herzegovina 
B. Austria-Hungary formally annexed Bosnia-Herzegovina in 1908 
C. The Bosnian Serbs reacted against Austria by setting up an open liberation movement 
D. The Black Hand was the state-instrument of Austria-Hungary to suppress the reactions of Bosnian Serbs 
15. Identify the incorrect statement about Balkan Wars
A. The First Balkan War was fought in 1912
B. The Turks were driven out of the entire Balkan peninsula except Adrianople in the course of First Balkan War 
C. The Second Balkan War was fought in 1914
D. The Second Balkan War was fought between the victorious allies over the division of spoils in the peninsula 
16. The immediate cause for the outbreak of the First World War was the assassination of Archduke Franz Ferdinand. On which day was he assassinated?
A. 28 June 1914
B. 29 June 1914
C. 28 July 1914
D. 29 July 1914
17. Who among the following were not the part of Spanish voyages to discover new trade routes? 
A. Americus Vespucius
B. Ferdinand Magellan
C. Christopher Columbus
D. Bartholomew Diaz 
18. Which of the following statements about the discovery of new trade routes is incorrect?
A. Spain attempted to discover new trade routes under the stewardship of Prince Henry the Navigator 
B. Spanish voyage of 1492 was commissioned by Ferdinand and Isabella 
C. Christopher Columbus arrived at Bahamas with three small ships
D. The Pope divided the New World between Portugal and Spain 
19. Identify the incorrect statement about the beginnings of English settlement in Americas
A. England was late in the race for colonizing Americas due to the lack of resources under Tudor monarchs 
B. In the earliest phase of colonization, England did not dare to challenge Spain’s monopoly in New World 
C. The relations between England and Spain severed under Queen Victoria 
D. The London merchants formed a joint stock company and landed at America in 1620 in a ship named Mayflower 
20. Which of the following is not associated with taxation programme of Gorge Grenville which sparked opposition of American colonists?
A. The Sugar Act, 1764
B. Currency Reform, 1764
C. The Tobacco Act, 1765
D. The Stamp Act, 1765
21. Which one of the following statements are incorrect about the forms of opposition of American colonists to Grenville’s taxation programme?
A. The Virginia Assembly passed a resolution denying the Parliament’s right to tax the colonies without their consent
B. The lower classes organized as the Sons of Liberty and used mob violence against all stamp agents 
C. The merchants made mutual agreement not to import English goods until the Stamp Act was repealed 
D. American colonists brought forth a new currency system 
22. What was the cause for Boston Tea Party which was a radical reaction of dumping the tea into Boston harbour?
A. The Grenville Taxation Programme
B. The Townshend Acts, 1767-70
C. The Tea Act, 1773
D. The Massachusetts Governing Act, 1774
23. The First Continental Congress which discussed the grievances of American colonies against the English Parliament was held at
A. Philadelphia
B. New York
C. Plymouth
D. California  
24. Which of the following statements are incorrect about the Second Continental Congress?
A. It was met in May 1775
B. Moderates prevented an immediate declaration of independence 
C. George Washington was given the command of the army formed to besiege the British in Boston 
D. The Congress adopted the Suffolk Resolves pledging members not to obey the coercive acts 
25. Who was entrusted with the task to draft a declaration of American independence?
A. George Washington
B. Thomas Jefferson 
C. Thomas Paine 
D. John Dickinson 
26. Which of the following days marked the Declaration of American Independence by Thomas Jefferson?
A. July 4, 1776
B. July 8, 1776
C. July 4, 1778
D. July 8, 1778 
27. Which of the following battles are not associated with the American War of Independence?
A. Battle of Long Island
B. Battle of Trenton
C. Battle of Princeton
D. Battle of Florida 
28. The unconditional surrender of Japan which marked the end of the Second World War was on:
A. 7 August 1945
B. 14 August 1945
C. 21 August 1945
D. 28 August 1945
29. Which of the following statement doesn’t represent the imperialist rivalries in the decades before the First World War?
A. England and France were part of two rival alliances at the outbreak of the First World War 
B. France had grievance against Germany due to the loss of Alsace-Lorraine
C. Austria was afraid of Russian influence in Balkan peninsula 
D. England was afraid of Germany’s battleship fleet 
30. Archduke Franz Ferdinand was shot dead in which city?
A. Sarajevo
B. Moscow
C. Berlin
D. Paris 
31. Russia lost its control over Finland, Poland and Ukraine to the Central powers under Germany through which treaty?
A. Treaty of Paris
B. Treaty of Versailles
C. Treaty of Sevres
D. Treaty of Brest-Litovsk 
32. Which one of the following objective doesn’t represent the considerations in the Peace Settlement after the First World War?
A. To control Germany
B. To check the spread of communism 
C. To form League of Nations 
D. To restore boundaries in Europe as it was before the First World War 
33. Treaty of Sevres after the First World War was signed with:
A. Germany
B. Turkey
C. Austria
D. Hungary 
34. Which of the following provisions are not part of the Treaty of Versailles?
A. The war-guilt clause ascribed the German responsibility for the First World War
B. Alsace and Lorraine went back to France
C. The victorious allies asked Germany to pay reparations as the cost of the war
D. Germany was given back her former colonies 
35. Who among the following proposed the idea of League of Nations?
A. Woodrow Wilson 
B. Winston Churchill
C. Clement Atlee
D. Lloyd George 
36. Which among the following were not milestones which led to the outbreak of the Second World War?
A. Japanese invasion of Manchuria, 1931
B. Italian invasion of Ethiopia, 1935
C. German invasion of Austria, 1938
D. French invasion of Indochina, 1939
37. Which country’s army was defeated at Stalingrad in March 1943? 
A. Germany
B. Italy
C. Japan
D. Austria 
38. What best explains Pearl Harbour incident?
A. The Japanese attack on American fleet in 1941
B. The German attack on American fleet in 1941
C. The American attack on Japanese fleet in 1942
D. The American attack on German fleet in 1942
39. Which country envisaged the ambitious plan to establish Greater East Asia Co-Prosperity Sphere?
A. Japan
B. China
C. Germany
D. United States of America 
40. The brutal genocide to exterminate the Armenian population was held under the aegis of:
A. Turkey
B. Soviet Russia
C. Germany
D. Italy 
41. An assembly of peoples’ representatives formed after Russian defeat against Japan was known as:
A. Reichstag
B. Bundestag
C. Duma
D. House of Commons 
42. Who among the following were not instrumental in penetrating the western radical and liberal ideas among the masses of Russia?
A. Leo Tolstoy
B. Turgonev
C. Dostoviesky
D. Frederik Engels 
43. Vladimir IlichUlyanov is the original name of: 
A. Lenin
B. Stalin
C. Trotsky
D. Maxim Gorky
44. The theoretical expert with whose help Lenin established revolutionary newspapers while on exile in Siberia:
A. Plekhanov
B. Maxim Gorky
C. Leo Tolstoy
D. Leon Trotsky 
45. Which were the two publications started by Lenin to promulgate a body of revolutionary doctrine among the Russian masses?
A. Iskra and Zarya
B. Glasnost and Perestroika
C. Iskra and Perestroika
D. Glasnost and Zarya
46. Which of the following statements doesn’t express Lenin’s programme for revolution?
A. Lenin maintained that purely workers’ literature is more fundamental than scientific theories in bringing about a revolution 
B. Lenin believed that the socialist movement can come into being only on the basis of a profound scientific knowledge 
C. Lenin distinguished between organization of workers and organization of revolutionaries 
D. Lenin maintained that the communist party mechanism should be built upon a sound basis of theory 
47. Identify the incorrect statement regarding the Social Democratic Party in Russia 
A. Bolsheviks were the radicals under Lenin 
B. Mensheviks were the moderates who believed the triumph of socialism as a slow and gradual process 
C. Mensheviks led and became successful in February Revolution 
D. Mensheviks led and became successful in October Revolution 
48. Identify the incorrect statement about February Revolution 1917 
A. February Revolution marked the collapse of Tsar’s rule 
B. Cossacks were an army troop which remained faithful to Tsar during February revolution
C. Tsar Nicolas’ abdication was followed by the formation of a liberal provisional government 
D. Alexander Kerensky was part of the newly formed provisional government 
49. Which definition best explains the terminology Soviet?
A. Soviet meant the apex body of decision making in the Social Democratic Party
B. Soviet meant the synonym of provisional government set up in Russia after February Revolution 
C. Soviet meant the multitude of grass-root level councils which had affinity to Bolshevism
D. Soviet meant the multitude of grass-root level councils which sympathized with Tsarist rule in Russia  
50. On which day did Lenin arrive at Petrograd after his exile?
A. 16 March 1917
B. 16 April 1917
C. 16 May 1917
D. 16 June 1917 
51. Who among the following were not part of the provisional government established following the overthrow of Tsarist regime?
A. Prince George Lovi
B. Alexander Kerensky
C. Milinkov
D. Leon Trotsky 
52. What is not true of St. Petersburg?
A. It was renamed Petrograd in the course of the first World War
B. It was further renamed Leningrad after Lenin’s death in 1924
C. It was once again renamed St. Petersburg after the fall of USSR 
D. St. Petersburg is presently the capital of Russia 
53. What was the economic and political system that existed in Soviet Russia during the Civil War from 1918 to 1921?
A. War Communism
B. Planned Economic Development
C. New Economic Policy
D. None of the Above 
54. What is not true of New Economic Policy?
A. It was the negation of the policies of War Communism
B. It was adopted in 1925
C. It was a partial restoration of capitalism 
D. It restored the freedom to trade by citizens 
55. What is not true of Planned Economic Development in Russia?
A. It was initiated under Joseph Stalin
B. The first five year plan collectivized agriculture 
C. The first five year plan was implemented in Russia between 1928 and 1933 
D. Five Year Plans were meant to create a liberal economy with minimum control of state 
56. The Great Economic Depression began with the crash of the New York Stock Exchange on:
A. 27 October 1929
B. 28 October 1929
C. 29 October 1929
D. 30 October 1929
57. New Deal is associated with which of the following America Presidents?
A. Franklin D. Roosevelt
B. Theodore Roosevelt
C. John F. Kennedy
D. Ronald Reagan 
58. What best explains New Deal?
A. It means the various experiments undertaken under President Franklin D. Roosevelt to deal the aggression of Nazi Germany
B. It means the various experiments undertaken under President Franklin D. Roosevelt to stimulate the economy after the Great Depression
C. It means the various experiments undertaken under President John F. Kennedy to deal the aggression of Nazi Germany
D. It means the various experiments undertaken under President John F. Kennedy to stimulate the economy after the Great Depression 
59. As a part of the installation of modern welfare system in the aftermath of Great Depression, which of the following countries passed Social Security Act in 1935?
A. U.S.A
B. Britain
C. Germany
D. France 
60.  General Theory of Employment, Interest and Money was written in 1936 by whom?
A. John Maynard Keynes
B. Alfred Marshall 
C. Francis Fukuyama 
D. Clement Atlee 
61. Who was the President of U.S.A. at the time of Wall Street Crash in 1929?
A. Herbert Hoover
B. Franklin D. Roosevelt
C. Theodore Roosevelt
D. Lyndon B. Johnson 
62. Hoover Holidays is associated with:
A. Rise of Nazism in Germany
B. Rise of Fascism in Italy
C. Russian Revolution
D. Great Economic Depression 
63. Which of the following are not the political impacts of Great Depression?
A. Twelve countries changed government in Latin America between 1930 and 193
B. The radical Right wing strengthened in Germany and Italy 
C. Labour governments fell in Britain and Australia 
D. The Depression strengthened International Communist Movement outside USSR
64. Which among the following doesn’t represent anti-colonial movements which strengthened in the period of Great Economic Depression? 
A. Moslem Brotherhood in Egypt
B. Civil Disobedience under Gandhi in India 
C. Election of De Valera in Ireland 
D. Communist Revolution in China under Mao Tse Tung 
65. Which of the following doesn’t represent the idea of liberalism
A. Liberalism distrust dictatorship and absolute rule 
B. Liberalism carries forward an accepted set of citizens’ rights and liberties
C. Liberalism doesn’t believe in the rule of law
D. Liberalism stands for freely elected governments and representative assemblies 
66. Mussolini’s March on Rome was in:
A. 1921
B. 1922
C. 1923
D. 1924
67. Which among the following European countries lost its democratic institutions in the inter-war period? 
A. Britain
B. Germany
C. Finland
D. Switzerland 
68. Adolf Hitler became German Chancellor in:
A. 1931
B. 1932
C. 1933
D. 1934 
69. Who among the following were addressed as Fuhrer?
A. Benito Mussolini
B. Adolf Hitler
C. Winston Churchill
D. Lloyd George
70. Who among the following were addressed as Duce?
A. Adolf Hitler
B. Benito Mussolini
C. Winston Churchill
D. Lloyd George 
71. Identify the country which was not a signatory in the Anti-Comintern Pact 1937
A. Germany
B. Italy
C. Japan
D. France 
72. Which were the countries were invaded by Mussolini?
A. Albania and Abyssinia
B. Albania and Rumania 
C. Abyssinia and Rumania
D. Abyssinia and Slovakia 
73. The Battle for Grain and the Battle for the Lire were two programme initiated by:
A. Adolf Hitler
B. Benito Mussolini
C. Lloyd George
D. Winston Churchill 
74. Which of the following statements about Fascism in Italy is incorrect?
A. Between 1922 and 1929, Italy under Mussolini underwent extensive economic development and modernization of industries
B. Mussolini’s Labour Policy in 1926 gave freedom for labourers to conduct strikes and lockouts 
C. In 1929, Italy however fell victim to all the consequences of the Great Economic Depression
D. Through a Concordat in 1929, Catholicism was confirmed as the state religion in Italy 
75. Which of the following trait doesn’t represent the value-system of Nazism?
A. German nationalism
B. Cult of the Leader
C. Pro-Semitism
D. Anti-Communism 
76. Mein Kamph is the autobiography of:
A. Adolf Hitler
B. Benito Mussolini
C. Vladmir Lenin
D. Joseph Stalin
77. Which of the following legislations deprived German citizenship for Jews?
A. Regensburg Law
B. Nuremberg Law 
C. Hamburg Law
D. Munich Law
78. Which of the following provisions do not belong to Nuremberg Law 1935?
A. Any person with one non-Jewish grandparent would be considered as Germans and not Jews 
B. Jews were deprived of German citizenship
C. Jews could neither fly national flag nor work in banks
D. Names of Jews who died in First World War were erased from war memorials
79. Which among the following races were conceived as to be superior by Hitler?
A. Nordic
B. Poles
C. Slavs
D. Gypsies 
80. What best explains Enabling Act 1933?
A. Nazism in Germany
B. Fascism in Italy
C. Militarism in Japan
D. Communism in USSR
81. Third Reich is best explained by:
A. Nazism in Germany
B. Fascism in Italy
C. Militarism in Japan
D. Communism in USSR
82. Which of the following statements is incorrect about anti-colonial movements?
A. Political mobilization in Tunisia and Algeria were against France
B. Communist agitation in Indochina was against Italy
C. Agitations in Indonesia were against the Dutch 
D. Indian National Movement was against the British  
83. Which among the following anti-colonial leaders is not matched correctly against their country?
A. Jawaharlal Nehru – India 
B. Jomo Kenyatta – Kenya
C. NamdiAzikiwe – Nigeria
D. Kemal Ataturk – Vietnam  
84. Which of the following statements about decolonization is incorrect?
A. Syria and Lebanon gained freedom in 1945
B. India and Pakistan gained freedom in 1947
C. Burma and Ceylon gained freedom in 1948
D. Philippines and Indonesia gained freedom in 1949
85. Who among the following were the Communist leader in Indochina?
A. Jomo Kenyatta
B. Kemal Ataturk
C. Ho Chi Minh
D. Mao Tse Tung 
86. Which among the following doesn’t represent the deliberations towards self-rule in India?
A. Cripps Mission
B. August Offer
C. Cabinet Mission
D. All the Above 
87. The revolution of the Free Officers was in:
A. Egypt
B. Lebanon
C. Indonesia
D. Libya 
88. Gamal Abdel Nassar was the anti-colonial leader in:
A. Egypt
B. Lebanon
C. Indonesia
D. Libya
89. Which of the following doesn’t represent anti-colonial movement in India?
A. Non-Cooperation Movement
B. Civil Disobedience Movement 
C. Quit India Movement
D. Revolution of the Free Officers 
90. Congo is also known as:
A. Ghana
B. Guinea
C. Zaire
D. Nigeria 
91. African National Congress which struggled against apartheid was in:
A. South Africa
B. Sudan
C. Uganda
D. Mozambique 
92. A Long Walk to Freedom is the autobiography of:
A. Nelson Mandella
B. Gamal Abdel Nassar
C. Kemal Ataturk
D. Ho Chi Minh 
93. Monarchical rule in China ended in 1911 with the decline of which dynasty?
A. Manchu
B. Tang
C. Song
D. Ming
94. Who among the following led Chinese Republic between 1912 and 1916?
A. Yuan Shi Kai
B. Mao Tse Tung
C. Tseng Yung Chuan
D. Deng Xiaoping 
95. Who succeeded Sun YatSen as the leader of Kuomingtang?
A. Chiang Kai Shek
B. Mao Tse Tung
C. Yuan Shi Kai
D. Deng Xiaoping 
96. Which of the following statements about the Long March in China is incorrect?
A. It was undertaken under the leadership of Mao Tse Tung
B. It coordinated the Red Army units across China 
C. It marked the collapse of Communist domination in China
D. The Marchers captured lands from feudal lords and distributed them to peasants
97. Which of the following countries tried to establish control over Peking and Shanghai in 1937?
A. Japan
B. Russia
C. Britain 
D. France
98. Peoples’ Republic of China was declared on:
A. 1 October 1949
B. 2 October 1949
C. 1 November 1949
D. 2 November 1949
99. Great Leap Forward and Cultural Revolution are associated with:
A. Mao Tse Tung
B. Deng Xiaoping 
C. Yuan Shi Kia
D. Chiang Kai Shek
100. UN was formed on:
A. 23 September 1945
B. 24 September 1945
C. 23 October 1945
D. 24 October 1945
101. United Nations formed its first Peace-keeping Force:
A. To end Suez Crisis
B. To intervene against USSR’s invasion of Hungary
C. To look into crises in Congo
D. To look into crises in Cyprus 
102. UN International Court of Justice is headquartered at:
A. Hague
B. Geneva
C. New York
D. London 
103. World Health Organization is headquartered at:
A. Hague
B. Geneva
C. New York
D. Paris 
104. Which of the following organ of UN was suspended after the independence of Palau in 1994?
A. Trusteeship Council
B. Secretariat
C. Economic and Social Council
D. [bookmark: _GoBack]International Court of Justice 
